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Which of the following is not a state

plan scheme under the Department

of HRD, Jharkhand ?

(A) Mukhyamantri Vidya Lakshmi
Yojana

(B) Free distribution of school kits
to children

(C) Additional state assistance for
MDM

(D) Rashtriya Madhyamik Siksha
Abhiyan

What is correct about the Jharkhand
Fellowship Yojana about students ?

(A) Only SC/ST students are
eligible for this fellowship
scheme.

(B) Only students with 80% and
above marks from BPL families
are eligible for this fellowship.

(C) All the candidates who are not
paying Income Tax can make
online registration for this
fellowship.

(D) Students from Santhal Pargana
region will be given weightage.

Which of the following is an
exclusive housing scheme in
Jharkhand ?

(A) Indira Awaas Yojana

(B) Pradhanmantri Awaas Yojana
(C) Ved Vyas Awaas Yojana

(D) Deen Dayal Awaas Yojana

In  which year, the term
‘accountable’ came into usage in the
English language ?

(A) 1582

(B) 1583

(C) 1584

(D) 1585
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Which one of the following is not the
technique of internal control over
administration ?

(A) Budgetary system

(B) Personnel Management

(C) Citizen

(D) Administrative leadership

Which Article of the Indian
Constitution states that the Council
of Ministers shall be collectively
responsible to the Lok Sabha ?

(A) Article-73
(B) Article-74
(C) Article-75
(D) Article-76

Estimate Committee was constituted
in

(A) 1921
(B) 1950
(C) 1953
(D) 1974

Which political philosopher
separated and differentiated civil
society from state for the first time ?

(A) Jeffrey Alexander
(B) S.K.Das

(C) George Huggins
(D) G.W.F. Hegel

Whitley Councils in the sphere of
civil service were established for the
first time in the year

(A) 1917
(B) 1919
(C) 1920
(D) 1921
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10.

11.

12.

13.

Which committee was appointed to
study the role of Treasury in the
financial administration of Britain ?

(A) Ramsay-Bunning Committee
(B) Masterman Committee

(C) Assheton Committee

(D) Plowden Committee

In which year, the National Institute
of Rural Development was
established ?

(A) 1948
(B) 1954
(C) 1958
(D) 1959

In which year, the National Academy
of Administration was renamed as
Lal Bahadur Shastri National
Academy of Administration ?

(A) 1959

(B) 1962

(C) 1965

(D) 1972

Which commission had

recommended the adoption of the

system of Position Classification in

India ?

(A) 1** Pay Commission

(B) 2" Pay Commission

(C) 1 Administrative
Commission

(D) 2" Administrative Reforms
Commission

Reforms
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17,

18.

The first country to develop a
scientific system of recruitment was

(A) Prussia
(B) Britain
(C) US.A.
(D) India

Which of the following committee

recommended the separation of

accounts from audit in India ?

(A) Fulton Committee

(B) Committee
Assurances

(C) Departmental
Committee

(D) Public Accounts Committee

on Government

Standing

Who is regarded as the “Father of
Tenure System™ ?

(A) Lord Curzon

(B) Paul H. Appleby
(C) Lord Ripon

(D) Sir Maurice Hankey

In which year, the Cabinet
Secretariat came into existence ?

(A) 1945
(B) 1947
(C) 1948
(D) 1950

Under which Article of the
Constitution, the functions of Public

Service Commissions has been
defined ?

(A) Article-318
(B) Article-319
(C) Article-320
(D) Article-321
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20.
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22.

23.

Which committee recommended
reduction in the developmental role
of the District Collector ?

(A) Balwantray Mehta Committee
(B) G.V.K. Rao Committee

(C) Hanumantha Rao Committee
(D) Dantwala Committee

Who was the Chairman of ‘National
Commission on Urbanisation’ ?

(A) P.K. Wattal
(B) John Mathai
(C) K.N. Sahaya
(D) C.M. Correa

All India Institute of Local-self
Government is situated at

(A) Mumbai
(B) Nagpur
(C) New Delhi
(D) Hyderabad

Who was the first occupant to the
office of Chief Secretary during the
British rule ?

(A) Lord Wellesley
(B) G.H. Barlow
(C) Paul H. Appleby
(D) Lord Curzon

Which one of the following fund is
not provided under the Constitution
of India ?

(A) Consolidated Fund

(B) Public Account of India
(C) Contingency Fund of India
(D) Disaster Relief Fund
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25.
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‘ 28.

——

The inter-state council has been set
up under

(A) Article-352
(B) Article-263
(C) Article-283
(D) Article-292

The President can assigned any of
the functions of the Union
Government to the State
Government

(A) in his discretion.
(B) in consultation with the State
Governor.

(C) in consultation with the Chief
Justice of India.

(D) in  consultation with the
Government of the State.

The Preamble of the Constitution is
amended in

(A) 1968
(B) 1972
(C) 1976
(D) 1980

In the National Flag, which colour is
used in the wheel ?

(A) White
(B) Blue
(C) Navy Blue
(D) Green

Who among the following
considered the Preamble as “Soul of
the Constitution” ?

(A) Jawaharlal Nehru
(B) B.R. Ambedkar
(C) Mahatma Gandhi
(D) Hidayatullah
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30.

31.

32.

33.

The Governor of a State is appointed
by the President on the advice of the

(A) Vice-President
(B) Prime Minister
(C) Chief Justice

(D) Home Minister

Which of the following appointment
is not made by President of India ?

(A) Chief Justice of India

(B) Speaker of the Lok Sabha
(C) Prime Minister of India
(D) Chief of Army

Unitary  feature  of  Indian

Administration is

(A) Unified Judiciary

(B) Bicameralism

(C) Independent Judiciary

(D) Division of Powers

Whether a bill is a money bill or not
is decided by

(A) Speaker of Lok Sabha
(B) Finance Minister

(C) Chairman of Rajya Sabha
(D) President

Spoils system is associated with the
Civil Service of

(A) UK.
(B) US.A.
(C) India
(D) China
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37.

38.

The Union Council of Ministers
consists of

(A) Cabinet Ministers, Minister of
State and Deputy Ministers

(B) Cabinet Ministers and Minister
of State

(C) Prime Minister and Cabinet
Ministers

(D) None of these

Which of the following is not a Cut
Motion ?

(A) Policy cut

(B) Official cut

(C) Economy cut

(D) Token cut

The First Woman Governor of a state
in free India was

(A) Mrs. Indira Gandhi

(B) Mrs. Vijaya Laxmi Pandit
(C) Mrs. Sarojini Naidu

(D) Mrs. Sucheta Kripalani

Who administers the oath of office to
the President of India ?

(A) Vice-President

(B) Prime Minister

(C) Speaker of Lok Sabha
(D) Chief Justice

Which one of the following states
was the first to introduce the
Panchayati Raj system ?

(A) West Bengal

(B) Tamil Nadu

(C) Rajasthan

(D) Uttar Pradesh
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39.

40.

41.

42.

Which one of following commission
is not attached with the Ministry of
Social Justice and Empowerment ?

(A) National Commission  for
Backward Class

(B) National Commission  for
Scheduled Tribes

(C) National Commission for
Scheduled Castes

(D) National Commission for
Denotified, Nomadic and Semi-
Nomadic Tribes

The subject criminal law and
procedure is listed in

(A) Union List

(B) State List

(C) Concurrent List
(D) Residuary Matters

Which of following is a disability
requiring public assistance subject to
the economic capacity of the state as
per the provision of Article-41 of the
Constitution ?

(A) Unemployment

(B) Old age

(C) Sickness

(D) Cases of underserved wants

Which of following state does not

have the provision for the
nomination  of  Anglo-Indian
Community member in its
legislature ?

(A) Andhra Pradesh

(B) Kerala

(C) Tamil Nadu

(D) Himachal Pradesh
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44,
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Who can be appointed as the

Chairman of the National Human

Rights Commission ?

(A) A person who has been a
judge.

(B) A person who has been barrister
of more than 10 years.

(C) A person having practical
experience in matters relating to
human rights.

(D) A person having administrative
experience of more than 10
years.

Who won the E.Y. Entrepreneur of
the year award for 2018 ?

(A) Kishor Biyani
(B) Sameer Jain

(C) Nirmal Minda
(D) Siddhartha Lal

In which month of 2018, General
Elections were held in island nation
Maldives ?

(A) July, 2018

(B) August, 2018
(C) September, 2018
(D) October, 2018

The Rice Knowledge Bank has been
launched in

(A) Jharkhand
(B) Uttarakhand
(C) Assam

(D) West Bengal
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49.
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Which Cyclone hit Southern Africa
and killed hundreds of people in
March 2019 ?

(A) Trevor
(B) Idai
(C) Ockhi
(D) Gaja

This year the Parvashi Bhartiya
Divas 2019 is celebrated in

(A) Mumbai
(B) Kolkata
(C) Varanasi
(D) Singapore

Kartarpur corridor is connected with
which country ?

(A) Bangladesh

(B) Pakistan

(C) Sri Lanka

(D) Bhutan

Name the state which has launched
“One Family One Job” scheme.

(A) Sikkim
(B) Jharkhand
(C) Telangana
(D) Kerala

‘Al-Nagah 2019’ is the joint military
exercise between Indiaand
(A) Iran

(B) Iraq

(C) Saudi Arabia

(D) Oman
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54.

58.

56.

What is the theme of the 2019 World
Water Day ?

(A) Water for all

(B) Conserve for future

(C) Nature for water

(D) ‘Leaving no one behind’

The ‘Ross Island’ of Andaman and
Nicobar is renamed in December
2018 after

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose
(D) Atal Bihari Vajpayee

In India, inflation is measured by

(A) Consumer Price Index for
Industrial Workers

(B) Consumer Price Index for
Agriculture Workers

(C) Consumer Price Index for
Urban Non-manual Workers

(D) Wholesale Price Index

In India, the interest rate on savings
accounts in all the nationalised
commercial banks is regulated by

(A) Finance Minister of India
(B) Indian Bank Association
(C) RB.L

(D) None of these

The only two sectors reserved for the
public sector under the recent
Industrial Policy of Government of
India are

(A) Atomic energy and railway
transport

(B) Steel and petroleum

(C) Coal and electricity

(D) Aircrafts and defence
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57.

%

60.

61.

The annual financial statement is
laid before both Houses of
Parliament in accordance with

(A) Article-112
(B) Article-74
(C) Article-268
(D) Article-270

Eastern Dedicated Freight Corridor
being built by Indian Railway will
connect

(A) Panipat and Allahabad

(B) Bhubaneshwar and Hyderabad
(C) Ludhiana and Dankuni

(D) Ranchi and Tuglakabad

Measured in terms of ‘Purchasing
Power Parity’ (PPP), India is the
third largest economy in the world.
First two economies are

(A) U.S.A., Japan
(B) U.S.A., Germany
(C) US.A,,UK.

(D) U.S.A., China

In India Central Government’s gross
tax revenue as percentage of GDP is
around

(A) 11%

(B) 13%

(C) 16%

(D) 18%

National Rural Livelihood Mission
(NRLM) was launched in

(A) 2009
(B) 2011
(©) 2012
(D) 2014
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65.

66.

67.

‘Operation Flood” is related to

(A) Dairy development programme

(B) Flood control programme in
Jharkhand

(C) Irrigation
programme

(D) None of these

development

The sector which employs major part
of labour force in India is

(A) Formal sector
(B) Informal sector
(C) Public sector
(D) Foreign sector

Point of the origin of an Earthquake
inside the Earth is called

(A) Focus

(B) Epicentre

(C) Subduction

(D) Core

Origin of Himalayas is associated
with

(A) Rocks of Tertiary system

(B) Rocks of Archean system

(C) Rocks of Dharwar system

(D) Rocks of Aravalli system

Beneath the Earth surface long,
irregular and undulating forms of
solidified intruded magmas are
called

(A) Batholith

(B) Lopolith

(C) Lacolith

(D) Lapili

The highest peak of Aravalli hills is
(A) Gurushikhar

(B) Jarga

(C) Harshnath

(D) Kaimur
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68. Narmada River originates from
(A) Dhupgarh
(B) Vindhyachal
(C) Amarkantak
(D) Parasnath

69. Red data book is related with
(A) Biodiversity conservation
(B) Mineral oil production
(C) Acid rain
(D) Earthquake

70. Who presented the scheme of
classification of Indian Forest ?

(A) H.G. Champian

(B) Dr. M.S. Swaminathan
(C) O.H.K. Spate

(D) Punjab Singh

71. The Patkai Hills separate India from
(A) China
(B) Pakistan
(C) Bhutan
(D) Myanmar

72. Newer deposition of an alluvium is
known as

(A) Bangar
(B) Khadar
(C) Bhur
(D) Reh

73. Tidal forest are found in
(A) Glacier
(B) Desert region
(C) Delta region
(D) Hilly region
LDCR-5(R) (01)
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76.

b5 R

78,

The types of marriages according to
Smirities were

(A) two
(B) four
(C) six

(D) eight

The term ‘Amazoo’ has been used

for whom during Rigvedic era ?

(A) Barren girls residing with their
parents.

(B) Unmarried girls residing with
their parents.

(C) Married girls residing with their
parents.

(D) Divorced girls residing with
their parents.

In  Anuloma  marriage the
bridegroom was from

(A) Low caste

(B) High caste

(C) Sub caste
(D) None of these

Humayun was defeated by Sher
Shah Suri in the battle of

(A) Kannauj
(B) Khanwa
(C) Chanderi
(D) Panipat

In Hooghly district (West Bengal),
where was French Settlement held ?

(A) Shri Rampur
(B) Bhadeshwar
(C) Chandan Nagar
(D) Bandel
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81.
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83.

The decisive Battle of Jajau was

fought between two Mughal princes,

who were they ?

(A) Bahadur Shah-1 & Muhammad
Azam Shah

(B) Muhammad Azam Shah &

Muhammad Akbar

(C) Muhammad Akbar &
Muhammad Kam Baksh

(D) Muhammad Kam Baksh &
Muhammad Sultan

Who introduced Subsidiary Alliance ?

(A) Lord Dalhousie
(B) Warren Hastings
(C) Lord Wellesley
(D) Lord Clive

The second Afghan War was fought
in the year

(A) 1924

(B) 1915

(C) 1852

(D) 1878

The First Factory Act of 1881
restricted the appointment of

(A) Female

(B) Child

(C) Old person
(D) Handicapped

Anglo-Nepalese War (1814-16)
ended with the treaty of

(A) Shimla
(B) Sugauli
(C) Kathmandu
(D) Virganj
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Which of the following is correct

about the Bhimrao Ambedkar Awaas

Yojana ?

(A) It targets SC beneficiaries of
BPL.

(B) Beneficiaries of Indira Awaas
Yojana and Deen Dayal Yojana
are excluded from the scheme
and any other scheme.

(C) This scheme is exclusively for
the widows of Jharkhand who

- will  be given financial
assistance of ¥ 75,000 for
building a house in the hilly
region and ¥ 70,000 for a house
in the plains.

(D) This scheme has a cluster
approach.

Which of the following is not correct
about Swami Vivekanand Nishakt
Swawlamban Protsahan Yojana ?
(A) The beneficiary can be a
resident of any state of India.

(B) The beneficiary’s age should be

~ above 5 years.

(C) The beneficiary should not be
getting any other pension from
the centre or the state.

(D) The beneficiary should have a
disability certificate issued by a
competent authority.

Which of the following is not a
centrally sponsored scheme under
the Department of HRD, Jharkhand ?

(A) Sarva Shikhsha Abhiyan
(B) Mahila Samakhya
(C) National  Programme  for

~ Nutritional Support to Primary
Education

(D) Merit Scholarship Scheme
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Which of the following is a housing
scheme for the fishermen of
Jharkhand ?

(A) Ved Vyas Awaas Yojana

(B) Sidhu Kanhu Awaas Yojana

(C) Bhimrao Ambedkar Awaas
Yojana

(D) Pradhanmantri Awaas Yojana

Which of the following is not correct

about the Indira Gandhi Rashtriya

Vidhwa Pension Yojana ?

(A) The beneficiary should be a
widow from a BPL family

within the age group of 40 years
to 64 years.
(B) The  beneficiary’s  annual

income should be ¥ 5,000 for
rural area and ¥ 5,500 for urban
area.

(C) The selection of the beneficiary

shall be done by the Sub-
Divisional Officer.

(D) Each selected beneficiary will
get a monthly pension of T 400
only.

Which of the following is not a
scheme related to the farm sector ?
(A) Rashtriya Kamdhenu Yojana
(B) ARYA Scheme

(C) KUSUM Yojana

(D) Unnat Kisan Yojana

PTG Dakiya Yojana is a scheme to
distribute

(A) Life saving medicine to PTG
(B) Sports kit to the young

(C) 35 kg of doorstep delivery of
rice

(D) Free uniform to PTG Dakiyas.
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Which of the following schemes is
associated with farmers ?
(A) Pradhanmantri
Mandhan Yojana
(B) KUSUM Yojana
(C) Pradhanmantri Yuva Yojana
(D) Ayushman Bharat Yojana

Shramyogi

Which of the following is not a
scheme run by the Rural
Development Department, Jharkhand ?
(A) Sansad Adarsh Gram Yojana

.

(B) Pradhanmantri Adarsh Gram Yojana

(C) Jharkhand Adarsh Gram Yojana
(D) Mukhyamantri Smart Gram Yojana

Which of the following is not correct

about Gyanoday Scheme, Jharkhand ?

(A) Itis a scheme to set up libraries
across the schools of Jharkhand.

(B) It is a scheme for free
distribution of tablets to

~ teachers of 40,000 schools
across the state.

(C) Through this online software
mid-day scheme will also be
monitored.

(D) The tablets will become a
knowledge tools for teachers.

What is correct about Mukhyamantri

Krishi Ashirwad Yojana ?

(A) This is a scheme to provide
financial assistance to marginal
farmers of SC/ST communities.

(B) This a scheme to provide
financial assistance to the tune
of ¥ 5,000 to farmers during
both the Kharif and Rabi crops.

(C) This a scheme to provide
financial assistance to farmers
who have less than 1 acre of land.

(D) This scheme will provide

financial assistance to the tune

of T 5,000 to farmers having
less than 5 acres of land during
the Kharif season only.
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Which of the following is correct about

the Jharkhand Mukhbir Yojana ?

(A) It has an award of ¥ 5,000 for
Mukhbir  (Informant) who
provide vital information about
the whereabouts of the Maoists.

(B) Mukhbir under the age of 18 are
not eligible under this Yojana.

(C) Under this scheme Mukhbir
reporting about child marriages
will be awarded ¥ 5,000.

(D) Mukhbir  providing  false
information to be penalised.

Which of the following is not correct
about the Sidhu Kanhu Awaas Yojana ?

(A) This housing scheme is
exclusively for ST beneficiaries
below the poverty line.

(B) A grant of ¥ 45,000 is given to
the beneficiary.
(C) The selection of the beneficiary

is done through the Gram
Sabha.

(D) The beneficiary of Indira Awaas
Yojana and Deen Dayal Yojana
are excluded from this scheme.

Which of the following is not correct
about the Jharkhand Sukanya
Yojana, 2019 ?

(A) The scheme provides financial
assistance to a daughter from
the time of her birth till she
attains 18 years of age.

(B) The financial assistance is to the
- tune of ¥ 1,40,000 and will be

done through DBT.

(C) The scheme aims at the
empowerment of the girl child.

(D) When a girl child covered under
this scheme gets married under
the age of 18, she will also get
benefit of the scheme.
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Which of the following scheme was
started in Jharkhand ?

(A) Pradhanmantri Yuva Yojana

(B) Pradhanmantri Samman Nidhi
Yojana

(C) Ayushman Bharat Yojana

(D) Pradhanmantri
Mandhan Yojana

Shramyogi

Which of the following is not correct

about the Jharkhand Integrated

Adarsh Gram Yojana ?

(A) Itincludes Sansad Adarsh Gram
Yojana.

(B) It includes Pradhanmantri
Adarsh Gram Yojana.

(C) Itincludes Adarsh Gram Yojana.

(D) It does not include the
Mukhyamantri Smart Gram
Yojana.

Antarjatiya Vivah Yojana is a
progressive scheme. Which of the
following is correct about this
scheme ?

(A) The scheme covers intercaste
marriages among only SC/ST
adults above 18 years of age.

(B) In this scheme upper caste male
marrying an SC female is
rewarded ¥ 50,000.

(C) All other intercaste marriages get

- ¥25,000 as financial assistance.

(D) Under this scheme financial
assistance to the tune of
T 2.50,000 will provided to any
intercaste marriage involving a
general category adult and an
SC/ST adult.
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